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QUESTION 1

What interface restrictions does a port have? 

A. multiple required interfaces or multiple provided interfaces 

B. multiple provided interfaces and multiple required interfaces 

C. equal numbers of provided interfaces and required interfaces 

D. exactly one provided interface or exactly one required interface 

E. exactly one required interface and exactly one provided interface 

Correct Answer: B 

 

QUESTION 2

What situation results from an ApplyFunctionAction? 

A. produces output values 

B. performs any set of UML actions 

C. reads objects and produces output values 

D. writes objects and produces output values 

E. reads objects, write objects, and produces output values 

Correct Answer: A 

 

QUESTION 3

In the exhibit, how many of the arrows must provide values for the outgoing arrow to be given a value? 

A. none 

B. one 
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C. two 

D. three 

Correct Answer: D 

 

QUESTION 4

In the exhibit, what represents an interaction occurrence? 

A. a 

B. b 

C. c 

D. d 

Correct Answer: C 

 

QUESTION 5

What is the meaning of a required extension? 

A. The extension must be applied at least once in a model. 
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B. This extension has a higher priority than the other defined in the same profile. 

C. An instance of the extending stereotype must never be linked to an instance of the extended metaclass. 

D. An instance of the extending stereotype must always be linked to an instance of the extended metaclass. 

Correct Answer: D 
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